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H-hat=U-hat + p*V-hat

H-hat = Integral(Cp dt),from Tfinal to Tinitial, if Cp is not constant (with T)

H-hat = Cp * T, if Cp is constant,

H = m * H-hat

H = Hfinal - Hinitial = m * H-hat

H-hat=U-hat + p*V-hat

H-hat = Integral(Cp dt),from Tfinal to Tinitial, if Cp is not constant (with T)

H-hat = Cp * T, if Cp is constant,

H = m * H-hat

H = Hfinal - Hinitial = m * H-hat

P/ + u2/2 + g*z + F-hat = - Ws-dot / m-dot
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